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Q.1 =i faneft $9«1 & 'wRaE (Forward)' Ie wR faRTes & €, at aam glan 82
Ans o 1. RIS 399 Ue 1Y $0 g H rdt gt SIram 81

X 2. S0 wrft w0 @ fEefie gt sirar &1

X 3. 38 siferafen wu O Ot diaey ol Uit gt S 81

X 4. Qe wich S8 S0 gielT 81

Question Type : MCQ
Question ID : 44100935680
Option 11D : 441009142256
Option 2 ID : 441009142258
Option 3 1D : 441009142257
Option 4 ID : 441009142255
Status : Answered
Chosen Option : 1
Q.2 9Ra & IR-ufsyft v & Farera udaaren @ g sifafa=a aar &2
Ans X 1. gd-afgor
X 2. SR
X 3. IR-ud  fgor-ufgw
o 4. ITR-UEA T efPorgd
Question Type : MCQ
Question ID : 44100927663
Option 11D : 441009110200
Option 2 ID : 441009110202
Option 3 1D : 441009110199
Option 4 ID : 441009110201
Status : Answered
Chosen Option : 3
Q.3 19 §HE ¥ TE1 I 38T g1 a1 SreArean St et Y 21fws aeufa i e srgede & aga e &t
T ?
Ans o 1. 319o¢ 123
X 2. 33 110
X 3. 3T 356
X 4 o 72
Question Type : MCQ
Question ID : 44100927051
Option 11D : 441009107784
Option 2 ID : 441009107783
Option 3 1D : 441009107785
Option 4 ID : 441009107786
Status : Answered
Chosen Option : 1




Q.4 w1 @1t & g Ffaf@a d @ FiF-ar Risusr |99 78 a1?
Ans X 1. 9TgeR SR @R

X 2 3R

X 3.9e%

o 4. St

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100924897
44100999302
44100999301
44100999303
44100999304
Answered

1

Q.5 fAfafaa 7 @ 59 TIuy vad« e @ SUTT S&areds A (humeric value) @i Te fafate

wife gt 2ee A uRafda A & forg frar smar 82
Ans o 1. TEXT()

X 2. FORMAT()
< 3. NUMBERTOTEXT()
X 4. VALUE()

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100935461
441009141383
441009141384
441009141382
441009141381
Not Answered

Q.6 Who among the following established the Bengal Chemical Swadeshi Stores?
Ans X 1. Dadabhai Naoroji

& 2. Acharya PC Ray
2% 3. Surendranath Banerjee
2 4.BG Tilak

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100924961
44100999555
44100999556
44100999554
44100999553
Answered

2




Q.7 Which country proposed the idea of holding a United Nations conference on human
interactions with the environment in 1968?

25 1. United States
X 2. Canada

Ans

«# 3. Sweden
5 4. France

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100927246
441009108547
441009108548
441009108550
441009108549
Answered

1

Q.8 HuIeR Aeach A hrRATeT el ol UTAfAh 1 (ThaRT) T gidr 8?2
X 1. $exAC M S TS TemT

o 2. STRITT 3R SIS Acah ¢theh ol Al 3R helel el
/< 3. anRy fedae s ok Regg awen

X 4. 3 A e U 9 ©R

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100935887
441009143081
441009143080
441009143082
441009143079
Answered

2

Q.9 LAN @ gof &4 =1 8?
«" 1. Local Area Network (sfteret TRaT Aeadh)

25 2. Linked Access Network (foiers taiq eadh)
25 3. Large Area Network (TSt Tiar Seadh)
25 4. Limited Access Node ([iffids tadig its)

Ans

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100939349
441009156917
441009156919
441009156918
441009156920
Answered

1




Q.10 Siefig uilkd= d, St smadfa fraerwraalvm s & et A fovan st awhan g1
Ans X 1.5@RE
X 2. Bitthe
«” 3.DDT
X 4. ST
Question Type : MCQ
Question ID : 44100923144
Option 11D : 44100992311
Option 2 ID : 44100992312
Option 3 1D : 44100992310
Option 4 ID : 44100992313
Status : Answered
Chosen Option : 3
Q.11 Radiations that are emitted from nuclear wastes are known to cause at a high rate.
Ans o 1. mutations
< 2. emotional defects
25 3. syndromes
2 4. diseases
Question Type : MCQ
Question ID : 44100923996
Option 1 1D : 44100995701
Option 2 ID : 44100995702
Option 3 1D : 44100995703
Option 4 ID : 44100995704
Status : Answered
Chosen Option : 4
Q.12 fA=fafae # @ frad grr figsar ansita w@ifia & fog wRie vomeft (notation system)
farenfara it 12
Ans X 1.3W1G ofSceTe @
o 2. U fow] AR s
25 3. I 3THSIE et @H
X 4. ofgq AAsieR
Question Type : MCQ
Question ID : 44100925010
Option 11D : 44100999751
Option 2 ID : 44100999752
Option 3 ID : 44100999754
Option 4 1D : 44100999753
Status : Answered
Chosen Option : 4




Q.13 50 U g &Y Uah € 15 m/s & a1 @ nfawr= @ @1 s9h! nfast Sof fora- 82

Ans X 1.1.875J
o 2.5.625J
/5 3.3.750J
X 4.7.500J
Question Type : MCQ
Question ID : 44100940304
Option 11D : 441009160727
Option 2 ID : 441009160726
Option 31D : 441009160725
Option 4 1D : 441009160724
Status : Answered
Chosen Option : 2
Q.14 yafeRor Y [urasr & w01 gd GurR & fag gafavor w@refor sffaas (Environment Protection
Act) e # @my e
Ans X 1.1984
X 2.1992
X 3.1972
o 4.1986
Question Type : MCQ
Question ID : 44100923093
Option 1 ID : 44100992104
Option 2 ID : 44100992105
Option 31D : 44100992103
Option 4 1D : 44100992102
Status : Answered
Chosen Option : 4
Q.15 THR T URATY] SHTH 32 u §, 3R e S, 31uyail & &0 & fer ™ &1 9w 1 siotfae
Zeg fohe= g2
Ans 2 1.32u
X 2.128u
X 3.64u
o 4.256 U
Question Type : MCQ
Question ID : 44100941147
Option 11D : 441009164024
Option 2 ID : 441009164027
Option 3 1D : 441009164025
Option 4 ID : 441009164026
Status : Answered
Chosen Option : 4




Q.16 forega Ieaute st Frafaf@a & @ fora snffer &= & siafa enfiepa fomar war &2
Ans X 1. gdiTe &=

X 2. urufie &=

o 3. f&diae &

X 4 Tgds &7

Question Type : MCQ
Question ID : 44100927779
Option 11D : 441009110666
Option 2 ID : 441009110664
Option 31D : 441009110665
Option 4 ID : 441009110667
Status : Answered
Chosen Option: 3

Q.17 71<eR 2024 ¥, fAmfaf@a d @ fova wnfa siffeee et wf gRrt drges d o uuw e
Fafafordt ez o1 Sgre fohan man, ekt giern = auf & eru= aeefenfat 6w i ghpn
& A g?

Ans X 1.3 (Leica)
X 2. Siifees (Jenoptik)
o 3. e i1 Qi (Carl Zeiss AG)
X 4. smssz-ohedrd (Schneider Kreuznach)

Question Type : MCQ
Question ID : 44100929642
Option 11D : 441009118040
Option 2 1D : 441009118038
Option 31D : 441009118037
Option 4 ID : 441009118039
Status : Not Answered

Chosen Option : --
Q.18 yFHsel g HWAT (global warming) F RUTYfl siamaA= ____ Sg T @l
Ans X 1.0.5°C
< 2.08°C
< 3.07°C
o 4.0.6°C
Question Type : MCQ
Question ID : 44100924071
Option 11D : 44100996005
Option 2 ID : 44100996008
Option 3 ID : 44100996007
Option 4 ID : 44100996006
Status : Answered
Chosen Option : 3




Q.19 ¥Ra # gRa shifer @1 +fi=r (Far) RS war ST 82
Ans o 1. 7. THUY WA

X 2. Bogerery fehsftors wee

75 3. <t gemwen

X 4. 31 Il yae

Question Type : MCQ
Question ID : 44100924834
Option 11D : 44100999059
Option 2 ID : 44100999058
Option 3 1D : 44100999057
Option 4 1D : 44100999060
Status : Answered
Chosen Option : 1

Q.20 SheeR WRIRET ol JRed i (eI T gidr &2

Ans X 1. 5eAc dAfaRIAA Sl agt sl
X 2. IoR UraaE wt RIS ®U d WR AT
o 3. UTSdC Acadh ot fohdll SSITeRTSSS Yo ol ekl
X 4. HuIeR arRy ot feae e ofk g e

Question Type : MCQ
Question ID : 44100935768
Option 11D : 441009142608
Option 2 ID : 441009142610
Option 31D : 441009142609
Option 4 ID : 441009142607
Status : Answered
Chosen Option : 4

Q.21 S} 2025 #, wRd gRT fA=faf@q A @ forg Sid=meas 751 &t uae 991 & fag NVS-02 Suig
it forar mar?

Ans o 1. AfaieE g Efeam st (NavIC)
X 2. teftae Afeie ddarse fRen (GLONASS)
X 3. et ST fRew (GPS)
X 4. Achfort

Question Type : MCQ
Question ID : 44100929685
Option 11D : 441009118208
Option 2 ID : 441009118207
Option 31D : 441009118206
Option 4 ID : 441009118205
Status : Answered
Chosen Option : 3




Q.22 fFr=faf@a 7 @ forw wRda afger fohdher 7 fiwfiwfions aw= gwrr 2025 d 9d9B siarfga

fohdhex qeehre (Afgem) Sftar?
Ans o 1. T HeTT

X 2. fareh o

X 3. g et

X 4 gha R

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100929600
441009117875
441009117873
441009117876
441009117874
Answered

1

Q.23 Qs 3faee A9 Sl Hiehd g -2 cm g1 FEh &t T RSl
Ans X 1.25D

52.05D
< 3.-05D
o 4.-50D
Question Type : MCQ
Question ID : 44100940341
Option 11D : 441009160874
Option 2 1D : 441009160872
Option 31D : 441009160873
Option 4 ID : 441009160875
Status : Answered
Chosen Option : 4
Q.24 ek fia &l 25 cm wiRd g8 & I A9 & A 15 cm g8 uR 3@ T g | ufafee Ay @
ghfti
Ans 2 1.-9.37cm
2 2.-10.0cm
o 3.-37.5cm
X 4.17.5¢cm
Question Type : MCQ
Question ID : 44100940342
Option 11D : 441009160879
Option 2 ID : 441009160878
Option 31D : 441009160876
Option 4 1D : 441009160877
Status : Answered
Chosen Option : 3




Q.25 W fafwoi it ga@ sifde aftharet amded - 8, Sit DNA &t arfay agedt 87

Ans o 1.UV-B

& 2.Uv-C
& 3.UV-A
X 4.Uv-D
Question Type : MCQ
Question ID : 44100924142
Option 11D : 44100996286
Option 2 ID : 44100996287
Option 3 1D : 44100996285
Option 4 1D : 44100996288
Status : Answered
Chosen Option : 2
Q.26 YRa # sg[gH €1 R FA=fafaa & @ wi=-ar ag () s« mar @2
Ans X 1. wgrer e 9g
o 2. Tlcrr-aiean foret
X 3. grast fasr
X4, T fae
Question Type : MCQ
Question ID : 44100924876
Option 1 1D : 44100999223
Option 2 ID : 44100999221
Option 3 ID : 44100999224
Option 4 ID : 44100999222
Status : Answered
Chosen Option: 2
Q.27 fa=fafEa & @ a=-dt ves fiegsg A9 18 82
Ans X 1.473cq 3ifadss
X289
o 3. e SITTARISS
X 4 P SESiaES
Question Type : MCQ
Question ID : 44100924056
Option 1 1D : 44100995945
Option 2 ID : 44100995947
Option 3 1D : 44100995948
Option 4 ID : 44100995946
Status : Answered
Chosen Option : 2




Q.28 GeRie & 9t A2 3R B2 & < ohl oT e & foig, Ot C2 F whi=-u1 i st fovar siram anfag?

Ans o 1. =A2*B2
X 2. =MULTIPLY(A2,B2)
X 3.=A2-B2
X 4. =A2+B2
Question Type : MCQ
Question ID : 44100935430
Option 11D : 441009141254
Option 2 ID : 441009141256
Option 3 ID : 441009141255
Option 4 ID : 441009141253
Status : Answered
Chosen Option : 1
Q.29 A emgf areft eafy e d ghft/gimmi
Ans X 1.3 dRA
X 2. = emam
X 3. g aanee
o 4. P ara
Question Type : MCQ
Question ID : 44100940352
Option 11D : 441009160917
Option 2 ID : 441009160918
Option 3 ID : 441009160919
Option 4 ID : 441009160916
Status : Answered
Chosen Option : 4
Q.30 forelt Stergie A 2ere ar mitha™ ot qa o=t o fAg fve thaer it ot Su=iT forar siraT 82
Ans X 1.F5
o 2.F2
X 3.F1
X 4.F12
Question Type : MCQ
Question ID : 44100935485
Option 11D : 441009141474
Option 2 ID : 441009141476
Option 31D : 441009141473
Option 4 ID : 441009141475
Status : Answered

Chosen Option :

1




Q.31 A=faf@a & @ #9-a1, TRufGe 3 rufe & dug & Jiq adi &2
Ans X 1.0 9 Feper arel sfre

X 2. srgdret @ e arer srafre
75 3. Tl & Fepe ater srafre
o 4. Fearafer srafre

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100923227
44100992646
44100992647
44100992648
44100992649
Answered

4

Ans X 1. 3R SifF
X 2. IR, sigsar
X 3.7a.gH. dRag
o 4. vA.qH. ot

Q.32 F=fafaa A & e e Rigial &t wrdia d@fdum & Sfiaaeri vaas & o 4 weffa
fomam?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100926885
441009107126
441009107128
441009107127
441009107125
Answered

2

Q.33 AEfa & U T9g & T Tg @Y T A i 2k gt @2
Ans X 1. 3509 R Slehg gl

X 2. R
o 3. had AR
X 4. dhaer TsggeT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100927043
441009107753
441009107754
441009107752
441009107751
Answered

3




Q.34 TgisTeh difieRl ol eI SR FaY=ich AIT=Id: i &1 gidT 82
Ans X 1. 3! TREAT g STTelER gl &1

X 2.3 Ued RRR Jga A gid 6|

o 3. 3T gad SfaRT-3MUIfeh 5T g1 &

X 4 5 arfas SU g €1

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100942181
441009168251
441009168249
441009168248
441009168250
Answered

3

Q.35 fAafafaa 3 @ o1 A R 94 geftde ZRT Idrfed ST d¢ SIrgii?
Ans X 1.8 YA dTel dR T ITTNT T

o 2. AR & ATH O UATRd ORI St G

2< 3. SIIVRg<h aieedT i hH AT
X 4. 3T ATcTehdl dTelt AT T IUTNT eheT

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100940292
441009160680
441009160681
441009160682
441009160683
Answered

4

Q.36 fF=faif@a & & forw ae o1 u=ATY] eieh 8 87
Ans X 1.

o 2. SMTRfH
X 3. TEgieH
X 4. grsgior

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
44100941078
441009163747
441009163746
441009163748
441009163745
Answered

2




Q.37 519 [ 91 | g & W I F© G STl STt &, a IHF pH R 1 TG uSer 8?

Ans # 1.pH A G STaT g
X 2.pH AR gt ol @
/5 3. pH sruRkafda g1 8
75 4. pH IS gt 11T &

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100941185
441009164178
441009164176
441009164177
441009164179
Answered

1

Q38 Rumtenglemd & &l uga ®u & mfae 2
Ans X 1.7SRE
o 2. TeadTe fgraTer
X 3. s H
N4 Rh
Question Type : MCQ
Question ID : 44100924157
Option 1 ID : 44100996345
Option 2 ID : 44100996347
Option 3 ID : 44100996344
Option 4 ID : 44100996346
Status : Answered
Chosen Option : 1
Q.39 Hfi gz R 123 km/hr f FFaa oAl aR______ &1 3gE0T 81
Ans X 1. Trgfad i
o 2. UHTH TR
X 3. erHH Tt
X 4. guft i

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100940334
441009160847
441009160845
441009160844
441009160846
Answered

2




Q.40 A metal wire is stretched, but it does not break easily. This property is known as:

Ans 4 1. ductility
25 2. brittleness
25 3. malleability
25 4. hardness

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100942151
441009168129
441009168130
441009168128
441009168131
Answered

1

Q.41 fA=fafaa & @ wi9-g1, AT ofik giftel & ) eidk sear &?

fasiwar  [fysror RUTED

A) gaRuT|vifaes fafert gRT geres foram ST aehar R fafedt &1 smasaed
B) ¥uc  [ffid squa A grar @ aferdt StuTd # e &
Qo [Hed HeeH & THF &Id & et @ f=T81d &

D) fmfor  Rramafes sifrfrar grr dar & et fRrToT g BN &

Ans X 1. feu B (due) agt 2

X 2. faed C (qon) T8t &

o 3. faeney A (gemeo) Tel @
X 4. freu D (Refon) Tt &

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100941338
441009164893
441009164894
441009164892
441009164895
Answered

4

Q.42 UTaRUTSE TRAC deei ol TR chgl (A JehdT 82

Ans  2C 1. Insert - Themes

5 2. Home - Layout

& 3. View - Slide Master

" 4. Design —» Themes

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100938394
441009153141
441009153140
441009153143
441009153142
Answered

2




Q.43 fFeft Memg sl wwifi Asoramm gt
Ans o 1. T8 GUUT ©U § UhTHM THe Uil hear g

25 2. 59 9Tl ot RIS gRT g o ST dehdT &

25 3. 59 ek I w0 ¥ RAfYd srgura § Taifoa gid €

25 4. =99 <t A orfdek uraed gt &

Option 11D

Question Type :
Question ID :

1 441009164734
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

McQ
44100941306

441009164735
441009164732
441009164733
Answered

1

Q.44 HF-T1 SHToRfET fAed, 2xmelu ik Auely & forg = siu=-aif A=R sk FgfAd-faa=
eeradie & g ST ST @2

Ans o 1. foFe (Linux)
X 2. Amaied (mac0S)
/< 3. fdgisT (Windows)
X 4. armgsiigd (i08)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100938470
441009153445
441009153444
441009153443
441009153446
Not Answered

Q.45 fonelt axg i nfest St 719 e+t & forg Fafaf@a 9 @ fra nfa awfierzor @ suahT frar s

Hehel 87
Ans X 1.s=ut+%at?
X 2. v=u+at

K 3a=(v-u)/t
o 4.v% - u?=2as

Question Type :

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

McQ
44100940305
441009160730
441009160728
441009160731
441009160729
Answered

2




Q.46 g0 arg WX AR §, sHe g FRUTgART ____ 81

Ans X 1.Um=H
X 2. IS
o 3. 499
X4 wRERuATET
Question Type : MCQ
Question ID : 44100922509
Option 11D : 44100989763
Option 2 ID : 44100989764
Option 3 1D : 44100989765
Option 4 ID : 44100989766
Status : Answered
Chosen Option : 3
Q.47 &f| Sfia=rsit A 2024 Ry R gy« dftgafag & Fafafaa 3 9 fra @t 9 fay Rt
gqEIn?
Ans X 1.600 Hex &20
o 2. 400 HR 20
25 3.100 Her &20
X 4,200 #eR &20
Question Type : MCQ
Question ID : 44100929579
Option 11D : 441009117782
Option 21D : 441009117783
Option 31D : 441009117780
Option 4 1D : 441009117781
Status : Not Answered
Chosen Option : --
Q.48 frg uerR ht RAM 31fres awt gt & aur 3@ Riber eeat Y srrasgerar 7t gidi?
Ans X 1. wir 39Kt (Flash Memory)
& 2.ROM
o 3. SRAM
25 4. DRAM
Question Type : MCQ
Question ID : 44100939241
Option 11D : 441009156488
Option 2 ID : 441009156487
Option 3 ID : 441009156485
Option 4 ID : 441009156486
Status : Answered

Chosen Option :

1




Q.49 Which of the following is NOT toxic to non-target organisms in the soil?

Ans

2 1. Fungicides
" 2. Organic fertilisers
25 3. Pesticides
25 4. Herbicides

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100966045
441009263131
441009263133
441009263130
441009263132
Answered

4

Q.50 40 g NaCl @t 200 g ST H ST Teh faeraq darR forar sirar @1 fasra=r & NaCl &1 gegmr= ufasre

frar 82
Ans o 1.16.67%
X 2.45%
& 3.25%
K 4.20%
Question Type : MCQ
Question ID : 44100941355
Option 11D : 441009164968
Option 2 1D : 441009164971
Option 31D : 441009164970
Option 4 ID : 441009164969
Status : Answered
Chosen Option : 4
Section : Technical Abilities
Q.1 Why are short-pitch windings preferred in alternators despite their lower induced EMF per
coil?
Ans X 1.They increase the length of end connections.
«# 2. They increase the overall efficiency.
/5 3. They allow for higher voltage ratings.
< 4. They eliminate the need for insulation.
Question Type : MCQ
Question ID : 44100958926
Option 11D : 441009234618
Option 2 ID : 441009234619
Option 3 1D : 441009234621
Option 4 ID : 441009234620
Status : Answered
Chosen Option : 2




Q.2 Yfara dhae faem 6 fra fafd F @is iR & g go: Sca== &Y sasgaan gidt g, Saw

Ans

& 1. 71d =9 (Trough Laying)
X 2. s=a.ayor gomet (Draw-in System)
2 3. ucmer U (Direct Laying)
X 4. RRRYGR gomreft (Overhead System)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100959047
441009236548
441009236546
441009236545
441009236547
Answered

2

Q.3 AC uRuy & afthy afh & day & fA=faf@a A @ wa-a1 sy= 1eq 82

Ans

25 1. rfery qoTens H g & a1 Afeha afh dedt 81

X 2. Tfer 1k, gRUY gRT WUd &Y S aTeft arafde e g1
o 3. AC uRRuy 7 Tftha 1feh P=Visind grR1 & STt &1

X 4. ferg 21 o1 A1 are (W) 31

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

McQ
44100962029
441009247149
441009247146
441009247147

: 441009247148
Status :
Chosen Option :

Answered
3

Q.4 What is the main drawback of using an induction generator in a grid-connected wind turbine?

Ans

«# 1. It requires external reactive power from the grid.
25 2.1t is not suitable for wind energy applications.
25 3.1t cannot generate active power.

25 4. It cannot operate at high speeds.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100961987
441009248127
441009248129
441009248128
441009248126
Answered

2




Q.5 Which of the following is characteristic of soft magnetic materials?

Ans X 1. Low relative permeability
/5 2. Low absolute permeability
/5 3. Large hysteresis loss

" 4. Low coercivity

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100959910
441009238567
441009238565
441009238566
441009238564

Marked For Review

1

Q.6 Sistel 5191 § SeF & ThU (atomising) & fog fA=faf@a @ wi9-a1 gew Iuver 82

Ans X 1.cEfEmoR
X 2.3y dg
o 3. TR
XA FERER
Question Type : MCQ
Question ID : 44100961338
Option 11D : 441009244368
Option 2 ID : 441009244369
Option 31D : 441009244367
Option 4 ID : 441009244366
Status : Answered
Chosen Option : 4
Q.7 39 Fwil | & frvaiar o1 ulRerer RS, St engfe farg o v MAsh-gata smar & f@g 6.8
J WS et gl
Ans X 1.6.8V
o 2.6.8kV
< 3.6.8mV
< 4.068V
Question Type : MCQ
Question ID : 44100957475
Option 11D : 441009228765
Option 2 ID : 441009228763
Option 3 ID : 441009228764
Option 4 1D : 441009228766
Status : Answered
Chosen Option : 2




98 aRos F aret wienmRer & dfeeet a1 emeerra waiawor V (s) = % 3 att= 0" wauRa @
s

U@ URTRIHNE _________ ghml +1
Ans X 1.3

o 2.05A

X 3.2A

X 41A

Question Type : MCQ
Question ID : 44100969304
Option 11D : 441009275837
Option 2 ID : 441009275839
Option 31D : 441009275838
Option 4 ID : 441009275840
Status : Answered
Chosen Option : 1

Q.9 With reference to energy band diagram of the NPN BJT, there exist
regions and maximum band bending at junction.

Ans * 1.two; base emitter

space charge

X 2. three; base collector
5 3.two; base collector

5 4. three; base emitter

Question Type : MCQ
Question ID : 4410091584
Option 11D : 4410096329
Option 2 ID : 4410096332
Option 31D : 4410096330
Option 4 1D : 4410096331

Status : Answered
Chosen Option : 4




Q.10 g Q¢ ger faeeas ABC #, duor AR A ur waifkd et umRT (total current fed) e FifSQI

1

(4+3)Q (4+3)0Q
B C
—— —»
8A 12A
06pf (8+16)Q 0.8pt.
Ans X 1.(12+j8)
X 2.8+j6)A

X 3.(13.6+j14.9) A
o 4. (144 +]13.6) A

Question Type : MCQ
Question ID : 44100958963
Option 11D : 441009234768
Option 2 ID : 441009234769
Option 3 1D : 441009234766
Option 4 ID : 441009234767
Status : Answered
Chosen Option : 2

Q.11 freft ueref Y FARder aRmEr p ok TTder URTET pr & i ddy
STrET gl
(Fam 7 & ok po, aryg it FARder urwegan @)

a1 faefua farar

Ans 1u=£
an” "

— ull
XZ-}LD—E
Xan=p

My

XAapn=E—

L

Question Type : MCQ
Question ID : 44100960091
Option 11D : 441009239300
Option 2 ID : 441009239302
Option 3 1D : 441009239301
Option 4 1D : 441009239299
Status : Answered
Chosen Option : 4




Q.12 NPN gifSier, sum ufarter Rb, Sumges ufadie Re 3R Syfe ateedr Vee &1 IuahT &ech IWafs

Iesies fa=ma & wrer e sraw BJT & faig, Rb # gfg & a1y smurR awr gaik
IESRURT_____ @l
Ans X 1. gedl; st
X 2. Fod; gedt
X 3. 5, gt
o 4. el gedt
Question Type : MCQ
Question ID : 4410091569
Option 11D : 4410096269
Option 2 ID : 4410096271
Option 31D : 4410096272
Option 4 1D : 4410096270
Status : Answered
Chosen Option : 2
Q.13 IRuT HieR & g Iugi fahg oI a1t wR-3eT Uade &, Taed= aemeof rment )
g S gl
Ans X 1. GdA-A8 IOl T 75%
X 2. Go-re Fargul T 66%
X 3. pot-alre Femgof &1 50%
o 4. G-I Jemgut &1 33%
Question Type : MCQ
Question ID : 44100961619
Option 11D : 441009245533
Option 2 ID : 441009245532
Option 3 ID : 441009245531
Option 4 1D : 441009245530
Status : Answered
Chosen Option : 2
Q.14 CRO & 91Y URT 419 & fAT 0.50 & 2ie ufaterer s Iuai fovar sirar @1 afe wfta aieear ara
5V g, at ¥rT frast grfi?
Ans X 1.20A
X 2.5A
X 3.25A
o 4.10A
Question Type : MCQ
Question ID : 44100956071
Option 1 ID : 441009223201
Option 2 ID : 441009223199
Option 3 ID : 441009223198
Option 4 1D : 441009223200
Status : Answered
Chosen Option : 4




Q.15 af srge Soft ufkuy 1 qurasT RS (Q) F&dT 8, dt aleedr sTat uR &aT T giar 8?
o 1. T8 ST & s il g A &1 STt 81

2 2. 8 I 8 1T & Rifeh SigATe UfeTd ol 3g R a1 8

X 3. g gcar § wilfe ufodty Sear gl

XX 4. FRR g1 & Fifer smyfd gteear fRR Bt 81

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960286
441009240103
441009240106
441009240104
441009240105
Answered

2

Q.16 Winding in wire wound resistor is made up of
25 1. Chromium cobalt

25 2. Carbon

Ans

«# 3. Nickel-chromium alloy
25 4. Nickel

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100959803
441009238142
441009238143
441009238140
441009238141
Answered

3

Q.17 Rt srezrarett &, femera a=g (pickup value)' 21sg T Hef¥Ha ohar &2

25 1. aicedl & 98 TR O R AT R g1 & a1¢ R S g s @

< 2. foreht gy o1 uaT I & a1 Ret vrferd 81 & uget o1 9wy faete

o 3. R ol afehlRd & & g smasaes vamer iR (T, dteed, o) 1 =gHas a4
X 4. R g fom foneht arfar & wifarag= i S areft sifdreram emer

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100963481
441009252938
441009252937
441009252936
441009252935
Answered

3




Q.18 &} garshiar ur BE 31k BCDE |HieR 3hH # & 3R Yeh HHIeR 3 gachid gRUY a9 &, ﬁmﬁ;ﬁq

¢ R | e man 1 39 9HiaR e aRuy & g smayes R R

IR &l
I A Lo B L%
——I-——__'___,} - |
4 v :
Ng—_} P2 .
i H 1
c____l___‘l i :
ot i |
| . :
F E T ‘

Ans X 1.BE 3fR BCDE & foq stasaes SRR O & aThel
X 2. fopeht oft wen gy & forg srmages OfRRR Tl & af
7% 3. BE & foiq srasgen SRR i & gehd
o 4. T oft ua uy & g srasaes OfeR ol

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960135
441009239488
441009239490
441009239489
441009239487
Not Answered

Q.19 gahrg ARSI (fringing) =t fFd UehR @ =ga faRar <1 Tehar 82
Ans X 1. JIRT TRt S TehIoH gRT

X 2. e TuTel aTet <areh g veref T IuET ahieh

X 3.9 T ek

o 4. TIY-SIRT A hch

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100960017
441009239009
441009239008
441009239010
441009239007
Answered

2




Q.20 The difference between Capacity Factor and Load Factor represents
Ans X 1.the plant's efficiency in converting fuel to electricity

" 2.the plant’s reserve capacity for future load growth
/5 3. the total energy consumed by the plant

25 4. the maximum demand of the plant

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960236
441009239955
441009239956
441009239957
441009239958
Answered

2

Q.21 What is the primary purpose of 'Inter-Turn Fault Protection' in an alternator?
Ans " 1. To detect faults between adjacent turns of the stator winding

25 2. To monitor the voltage imbalance in the alternator
5 3. To protect against earth faults in the rotor winding

X 4. To detect faults between the rotor and stator windings

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

: Answered

Chosen Option :

Status

McQ
44100963457
441009252840
441009252842
441009252841
441009252839

1

Q.22 WA & gd-gra & Ram s Iudi ... i feem FRraffa s & forg forar smar 21

Ans X 1. 3MafId SoT R I
27X 2. foneft aTeren o Ry 81k gardhi &
2< 3. foneft aTeten o ATem @ vanfed g arett ey
o 4. URA fegd agas 9

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100954531
441009217105
441009217104
441009217102
441009217103
Answered

4




Q.23 faega 550 # A= foha=t wehR & € gefide (heating elements) T SuT ke StraT 82

Ans X 1.9R
X2t
X 3.d=
o 4.3
Question Type : MCQ
Question ID : 44100966241
Option 11D : 441009263913
Option 2 ID : 441009263910
Option 31D : 441009263912
Option 4 1D : 441009263911
Status : Answered
Chosen Option : 2
Q.24 What is a key factor in the installation and costing of electrical systems for commercial
buildings?
Ans X 1. Focusing only on decorative lighting and aesthetics
2% 2. Eliminating the use of protective devices
25 3. Ignoring safety standards to reduce costs
" 4. Ensuring compliance with electrical codes and standards while estimating materials
and labour costs
Question Type : MCQ
Question ID : 44100963955
Option 11D : 441009254827
Option 2 ID : 441009254828
Option 3 ID : 441009254825
Option 4 ID : 441009254826
Status : Answered
Chosen Option : 4
Q.25 Which type of transformer is best suited for applications that require a low leakage
reactance?
Ans X 1. Core type transformer
/5 2. Ring type transformer
+" 3. Shell type transformer
&5 4. Laminated type transformer
Question Type : MCQ
Question ID : 44100961999
Option 11D : 441009247034
Option 2 ID : 441009247036
Option 3 1D : 441009247035
Option 4 ID : 441009247037
Status : Answered
Chosen Option : 4




Q.26 Which of the following is the commonly used generator in a DC welding machine?

Ans X 1. Shunt generator
25 2. Series generator
25 3. Permanent magnet generator
" 4. Compound generator
Question Type : MCQ
Question ID : 44100966268
Option 11D : 441009264019
Option 2 ID : 441009264018
Option 31D : 441009264021
Option 4 ID : 441009264020
Status : Answered
Chosen Option : 4
Q.27 afy g guTR uRuy hiufqaren z=5-j4 g, atvdegar_____ gifh
Ans X 1.5-j4
2 S 44
41
K 3.5+j4
X 4.9
Question Type : MCQ
Question ID : 44100962388
Option 11D : 441009248622
Option 2 ID : 441009248620
Option 3 1D : 441009248623
Option 4 1D : 441009248621
Status : Answered
Chosen Option : 3
Q.28 The eddy current loss in a transformer is caused by:
Ans X 1. resistance of the primary winding
< 2. saturation of the core material
4" 3. circulating currents within the core due to changing magnetic flux
5 4. voltage drop across the windings
Question Type : MCQ
Question ID : 44100961948
Option 11D : 441009246857
Option 2 ID : 441009246856
Option 3 ID : 441009246855
Option 4 1D : 441009246854
Status : Answered
Chosen Option : 3




Q.29 5y S, v(t) = Ldi/dt aret 9R= & fag emgfe & Tsier o1 ateear deier am ghm?

Ans X 1.V(s)=Lsl(s)
X 2.V(s) = LI(s)
" 3.V(s) = LslI(s) - Li(0)
X 4.V(s) = LI(s) - Li(0)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100969125
441009275130
441009275132
441009275129
441009275131
Answered

2

Q.30 The collector to bias circuit in BJT has better stability than fixed bias circuit as
Ans X 1.it can operate on higher supply voltages than that of fixed bias circuit

< 2. it can operate on higher power than fixed bias circuit
" 3. its stability factor is lower than that of fixed bias

25 4. its stability factor is higher than that of fixed bias

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

McQ

4410091574
4410096289
4410096290
4410096292
4410096291

: Answered
Chosen Option :

4

Q.31 S9I-9T &Reh URUT WRTE gedehifereh Alex & Weldd aereof et wrfara el ehvar g?
Ans o 1. UTd & SR & Icdoi

X 2. AR ufdena

X 3. AR ufaRty

X 4. smyfd aieear

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100961066
441009243248
441009243249
441009243247
441009243246
Answered

4




Q.32 foreht gimRrR #, af verdht ateear Y stgf ser & s 9t Re dleedar wR @ar v ygar 8?

Ans o 1. Tg e WITdl &
X 2. g LB S @
X 3. U TGN E
X 4 ggucardl
Question Type : MCQ
Question ID : 44100961926
Option 11D : 441009246772
Option 2 ID : 441009246773
Option 3 1D : 441009246771
Option 4 ID : 441009246770
Status : Answered
Chosen Option: 1
Q.33 ‘nt (Pi) Afs’ a1 ‘T Afse’ Ura: fhe WehR Y urwoT w184 @ fARefa @A 3 forg wrger favar siman
&
Ans o 1. TEH URVOT A3 (80 km & 160 km)
25 2. et urwor @18 (160 km & $1fdeR)
25 3. Y URYUT 13 (80 km 9 &)
25 4. 3Ifd-3=F dieedT URYUT A8 (1000 km & 31farh)
Question Type : MCQ
Question ID : 44100955263
Option 11D : 441009220029
Option 2 ID : 441009220030
Option 3 1D : 441009220028
Option 4 ID : 441009220031
Status : Answered
Chosen Option : 1
Q.34 Why is an electrodynamometer-type wattmeter used as a standard instrument in
laboratories?
Ans X 1. It requires no external power supply.
2 2. Itis cheaper than other wattmeters.
#" 3. It has high accuracy and precision.
2 4. It works only for low-power circuits.
Question Type : MCQ
Question ID : 44100956869
Option 11D : 441009226303
Option 2 ID : 441009226302
Option 3 ID : 441009226301
Option 4 1D : 441009226304
Status : Answered
Chosen Option : 3




Q.35 If the frequency of a series R-C circuit is increased, what happens to the capacitive reactance

Ans

XC?

25 1. It remains constant
X 2. It becomes infinite
5 3. ltincreases

¥ 4. It decreases

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960076
441009239241
441009239242
441009239239
441009239240
Answered

4

Q.36 In a transformer, the efficiency can be calculated with reasonable accuracy by knowing:

Ans

25 1. the rated power

5 2. the short-circuit current
«# 3. the losses (core and copper losses)

< 4. the input and output voltage

Question Type :
Question ID :
Option 11D :

Option 2 ID

McQ
44100961960
441009246902

: 441009246903
Option 31D :
Option 41D :

Status :

Chosen Option :

441009246904
441009246905
Answered

4

Q.37 In a biomass power plant, what is the main purpose of the combustion/gasification chamber?

Ans

" 1. To burn biomass or convert it into syngas for energy generation
< 2. To distribute electricity to the grid
2% 3. To store biomass for future use

25 4.To cool down the system after power generation

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

McQ
44100961339
441009244375
441009244376
441009244374
441009244377

: Answered
Chosen Option :

1




Q.38 fAfaif@a & & FiF-a1 wu, Sl w101 & §g-3Iure (cogeneration) &t yfAerT o1 Tatww o=

Ans

AT g AUT 2RE WoTTeht a1 SIguT fohe W St Al ohl e et | Heg o TehdT 87

X 1. TE-IUTE hadl 92 Siienfiie &5 7 & A EiaT & SR ST Soll URETUT UR hig UHTE -8l ugdl

2, STafen 2R gomferat o1 IuahT Shaet SuRfTarelt gRT W o & forg foar ST 81

X 2. Tg-3ared @ sifafkwh fastelt o1 IuTes ehedh STl WUd dg STd! §, JeT &R vonfert s St

faeTt ot ovw fopg formT S St SuahTenatent @t &fea e & forg foran smar 81

o 3. Tg-3Te 9 fAga oik Suaht ardia Sif o1 e 12y It hdh St ST hH gt SIIdT g,
Safch Sres! avg T faiTg & 12 SR Hunelt sged (off-peak) Seif IUTNT ht WicHTed el &, o<

THY AT R gt STt 81
X 4. gg-3are 3R IR yunferal Srefed SraerRuy &, 3R 578 T i oft o1t WReToT a1 AnT
rAteRvor & girer T8 et &1
Question Type : MCQ
Question ID : 44100954903
Option 11D : 441009218583
Option 2 ID : 441009218582
Option 31D : 441009218581
Option 4 ID : 441009218584
Status : Answered
Chosen Option : 3
Q.39 foreft Grzeft & URa EMF & fam, &I wgraar @ 71 6 ST Hehedt &1
Ans X 1. 5Af8T & am-g
X 2. KA & am
F 3. T & sfaur-ge Faw
X 4. R & e
Question Type : MCQ
Question ID : 44100959839
Option 11D : 441009238286
Option 2 ID : 441009238287
Option 3 ID : 441009238285
Option 4 1D : 441009238284
Status : Answered
Chosen Option : 3
Q.40 TIUHER 1 EMF Tefterzor ZR1 e srar @1
Ans X 1.E=4.44NAd
o 2.E=4.44fNd
X 3.E=4.442pN
X 4.E = 4.44fNAD
Question Type : MCQ
Question ID : 44100961966
Option 11D : 441009246922
Option 2 ID : 441009246924
Option 3 ID : 441009246925
Option 4 ID : 441009246923
Status : Answered
Chosen Option : 2




Q.41 Qe Sifet giawrR §, afd ateear uRurA srgure 2: 1 8, @t arufde urr ok feftaes urmr &
SrguTe foRaem 82

Ans X 1.1:1
X 2.2:1
o 3.1:2
X 4.2:3
Question Type : MCQ
Question ID : 44100962005
Option 11D : 441009247060
Option 2 ID : 441009247059
Option 3 ID : 441009247058
Option 4 ID : 441009247061
Status : Answered
Chosen Option : 3
Q.42 Which of the following is a key characteristic of a slip ring induction motor?
Ans & 1. High starting torque and low starting current
25 2. High efficiency at all loads
&5 3. Low starting torque and high starting current
25 4. Operates only at synchronous speed
Question Type : MCQ
Question ID : 44100961654
Option 11D : 441009245669
Option 2 ID : 441009245667
Option 3 ID : 441009245666
Option 4 ID : 441009245668
Status : Answered
Chosen Option : 1
Q.43 favrer %t Aiex o1 Uad aeTguf, SR yd AleX & vad= aargol § fra uaR g 82
Ans X 1. G o UacdH SeTgul Geh SIET 81T 81
25 2. fav1ad thet AYeR T hig Uad Jguf gl i
25 3. BIRIG Y AIeX T Uad- STl STfae gidT 81
o 4. ToTeT tht Hiex &l Uace Jergut Sifees giar &
Question Type : MCQ
Question ID : 44100958670
Option 11D : 441009233567
Option 2 ID : 441009233568
Option 3 ID : 441009233566
Option 4 ID : 441009233565
Status : Answered

Chosen Option :

1




Q.44 Which of the following is NOT a condition for the parallel operation of transformers?

Ans

5 1. Same voltage ratio
25 2. Same per unit impedance
" 3. Same core material

#5 4. Same polarity

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100962021
441009247122
441009247123
441009247124
441009247125
Answered

3

Q.45 ek a1 3T (power triangle) # wfera 21fek (P), uferamet 2ifth (Q) siix siryurfia 21fvh (S) & i

Ans

o Hay 82

K 1.8S=P+Q
X 2.P?=82+Q?
& 3.52=P2+Q2
X 4.Q?=82+p2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100962067
441009247297
441009247295
441009247296
441009247294
Answered

3

Q.46 -1 fAaH, MR whis # Wer YRt & URuT Al =arReaT hzar &2

Ans

1. iR & fAam
X 2. 31\ @1 A
o 3. S 1 e
X 4. F @

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100961854
441009246478
441009246481
441009246480
441009246479
Answered

3




Q.47 Why is voltage drop analysis important in an AC distribution system?
Ans X 1.Toincrease resistance in the conductors

25 2. To increase power losses
" 3. To ensure voltage levels remain within acceptable limits

#5 4. To reduce the system frequency

Question Type : MCQ
Question ID : 44100957571
Option 11D : 441009229146
Option 2 ID : 441009229143
Option 3 1D : 441009229144
Option 4 ID : 441009229145
Status : Answered
Chosen Option: 3

Q.48 e yamr Sia M saifa Aaarwt ufa s o= saifa o & &u & aRanfe frar sirar
gl

Ans X 1. &3%hd
2. smaaa
X 3. g
o 4. TR

Question Type : MCQ
Question ID : 44100966301
Option 11D : 441009264150
Option 2 ID : 441009264153
Option 3 1D : 441009264152
Option 4 ID : 441009264151
Status : Answered
Chosen Option : 4

Q.49 In a three — phase induction motor which component represents mech:
Ans X 1,R2|::1 - S::l
v R2(1 —5s)

5

x 3 SRZ(I —s)

8

x a2

8

Question Type : MCQ
Question ID : 44100961555
Option 11D : 441009245369
Option 2 ID : 441009245367
Option 3 ID : 441009245368
Option 4 ID : 441009245366
Status : Answered
Chosen Option: 3




Q.50 Power of an electrical system is measured in ____.
Ans X 1.watt-sec

5 2. joule
" 3. watt

25 4. newton-metre

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100955904
441009222562
441009222561
441009222560
441009222563
Answered

1

Q.51 = veffa aRay & garfga urr 1, 79 Ao

11=2A

Ans X 1.27A
X 2.13A
X 3.23A
& 417 A

Question Type :
Question ID
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

Status :

Chosen Option :

McQ

1 44100955878

1 441009222461
1 441009222463
1 441009222462
: 441009222460

Answered
4




Q.52 w1=-3ft fAd=ror faf, dror fier & ar-agufer vare & gem a4 82
Ans X 1. e uferty fdsor

X 2. R gieear s
/5 3. BRREE Sif9-areA (DOL) wIfém
o 4. IRQTS thiad<t grsa (VFD)

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100961203
441009243829
441009243827
441009243826
441009243828
Not Answered

Q.53 Microwave heating is based on the principle of:
Ans X 1. conduction heating

2% 2. induction heating
< 3. arc heating
¥ 4. dielectric heating

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100966220
441009263828
441009263826
441009263829
441009263827
Not Answered

Q.54 ff DC =ioft Aier & ae1 smeoi-sitz sifAeeiOrr Tk & @is T R T gar §?
Ans X 1.9 YUl suTfae ¥U § gedr gl

X 2. 91 omguf fRR gt ST 81

X 3. SR URT e ST g1

o 4. T STTYUT, SR ORI & o & SgUTd | 961 6

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100961865
441009246522
441009246524
441009246525
441009246523
Answered

2




Q.55 arforfRres dwmo=t & forg gfie sifdfn & uraesras ok @mma HrefRor 1 mufaes Sgea w82

Ans

X 1. TR & hael TeTad! Uggsil IR hichd ehel

25 2. forega vomferat # siffer &t srasgendT t TAT AT

75 3. Siffr Rew o1 Hied ol e & simentiar g1 gATYd deem

o 4. & SR gt sifef Rieew o iy smasaes A, s SfiR amTd a1 fAeRor st

Question Type : MCQ
Question ID : 44100963952
Option 11D : 441009254816
Option 2 ID : 441009254815
Option 31D : 441009254813
Option 4 ID : 441009254814
Status : Answered
Chosen Option : 4
Q.56 10 == ufa RM2aA Y R @ Tt Raneit § varaa™ & @ yarer I@fia #- aret Jiq &
saffadear 21
Ans o 1.10 &sar
X 2. 5%
25 3.20 &dem
X 4.1 &Een
Question Type : MCQ
Question ID : 44100966319
Option 11D : 441009264222
Option 2 1D : 441009264223
Option 3 1D : 441009264224
Option 4 ID : 441009264225
Status : Answered
Chosen Option : 1
Q.57 What is the purpose of '100% Stator Earth Fault Protection' in an alternator?
Ans o 1.To detect and protect against earth faults occurring anywhere in the stator winding
25 2. To protect the rotor winding from overheating
25 3. To monitor the voltage regulation of the alternator
25 4. To detect and protect against phase-to-phase faults in the stator winding
Question Type : MCQ
Question ID : 44100963578
Option 11D : 441009253328
Option 2 ID : 441009253329
Option 3 1D : 441009253330
Option 4 1D : 441009253327
Status : Answered

Chosen Option :

1




Q.58 Which of the following is a critical factor in the installation and estimation of agricultural
pumps and flourmills?

Ans X 1. Ensuring the system operates without any protective devices
25 2. Ignoring the load characteristics to simplify the design
/5 3. Focusing only on the mechanical components of the system

«# 4. Calculating the power requirements and selecting appropriate protective devices

Question Type : MCQ
Question ID : 44100963918
Option 11D : 441009254681
Option 2 ID : 441009254683
Option 31D : 441009254684
Option 4 1D : 441009254682
Status : Answered
Chosen Option : 4

Q.59 In a series RLC circuit, the total impedance is minimum when
Ans o 1. X =X¢

X 2. the resistance is zero
23X < Xe
AKX > X,

Question Type : MCQ
Question ID : 44100960122
Option 11D : 441009239423
Option 2 1D : 441009239426
Option 31D : 441009239424
Option 4 1D : 441009239425
Status : Answered
Chosen Option : 2

Q.60 In Lambert’s Cosine Law, the angle 6 is measured between:
Ans X 1. source and observer

< 2. reflected light and normal
2% 3. horizontal and vertical plane

¥ 4.incident light and normal

Question Type : MCQ
Question ID : 44100966346

Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

441009264332
441009264331
441009264333
441009264330
Answered

3




Q.61 Toh geehifcieh AleX #, af MR wio190° S orfder g, At dler
Ans X 1.dfd (copper) &t g1 &t e 4t

/5 2. g&ran dergt

75 3. ST 0feRT T0TeR WR SR R

o 4. JegehTiciehar @t &t SfR o gt saeft

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960855
441009242437
441009242436
441009242434
441009242435
Answered

2

Q.62 311k a9+ (arc heating) ®, 31rh
Ans X 1. uhr &

X 2. ST A

ZIRT SifeRa w@ar 21

o 3. TG & A
X 4. arg T wRTeRd A

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100966213
441009263799
441009263801
441009263798
441009263800
Answered

2

Q.63 giEwER A gaar (polarity) 2T HeaTa= st foRa ST Hehar 82
Ans X 1. fafdse ey Amaee

75 2. U TETuT shech
o 3. diced! iR &l ATIA & foly dieeHier T IUTNT ehech
X 4. Tgdaen g | dicedt &I Sirg aeh

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100962030
441009247150
441009247153
441009247152
441009247151
Answered

3




Q.64 Why does Kelvin's Law give different conductor sizes for two identical systems?
Ans X 1.Because one system uses overhead lines and the other uses underground cables

«" 2. Due to variations in interest rates, depreciation, and energy costs

/< 3. Because the resistance of conductors is always changing

&5 4. Because the electrical load is different in both systems

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100956674
441009225560
441009225559
441009225561
441009225558
Answered

4

Q.65 fAmfaf@a & & wi=-41, DC i STRex & fog R dts syt &1 ek SaTewur 8?

Ans X 1. faga AR
X 2.DC armeh afew
25 3. IRur o
o 4. 3ThEl Ug

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100954512
441009217026
441009217029
441009217028
441009217027
Answered

2

Q.66 Seifages 3iTch A2 (Electric Arc Welding) Teh WehR &t
Ans X 1.3 afET (resistance welding)

X 2. Tifers-we afEw (solid-state welding)
o 3. W afdT (fusion welding)
X 4. DR afET (pressure welding)

gl

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100966275
441009264049
441009264048
441009264046
441009264047
Answered

1




Q.67 What is the role of heliostats in a power tower system?

Ans & 1. To track the Sun and direct sunlight to the receiver
25 2. To convert thermal energy into electrical energy
25 3. To generate electricity directly

#5 4. To store solar energy for later use

Question Type : MCQ
Question ID : 44100961701
Option 11D : 441009246079
Option 2 ID : 441009246081
Option 3 1D : 441009246080
Option 4 ID : 441009246078
Status : Answered
Chosen Option : 1
Q.68 P-N dfd sl & forg, S-S aoe agaT g sls R s s aleear 3R Sehd
et T I
Ans X 1.9cdt g; gt g
o 2. Tt §; Fedt @
X 3.9 g wedt g
X 4. 95t §; Tt &
Question Type : MCQ
Question ID : 4410091596
Option 11D : 4410096380
Option 2 ID : 4410096379
Option 3 ID : 4410096377
Option 4 ID : 4410096378
Status : Answered
Chosen Option: 3
Q.69 In a three-phase star-connected system with a neutral shift, how can the problem be
corrected?
Ans X 1. By disconnecting the neutral wire
#< 2. By increasing the neutral wire resistance
2% 3. By increasing the phase voltage
«# 4. By balancing the load among the three phases
Question Type : MCQ
Question ID : 44100960018
Option 11D : 441009239014
Option 2 ID : 441009239013
Option 3 1D : 441009239011
Option 4 ID : 441009239012
Status : Answered
Chosen Option : 4




Q.70 A power system with a high reactive power demand will resultin ____.

Ans X 1. high power factor
" 2. low power factor
25 3. unity power factor

&5 4. no change in power factor

Question Type : MCQ
Question ID : 44100962042
Option 11D : 441009247198
Option 2 ID : 441009247199
Option 3 ID : 441009247201
Option 4 ID : 441009247200
Status : Answered
Chosen Option: 2
Q.71 Ry g aiffer= (A) 3R SRUT (R) &t eargdes ufey ok Ol Rieve o1 7= HifSg)
(A): PMMC # I <hT g1, STl UM 3R aT9H1 & hIRUT gidT 21
(R): PMMC Tt & oy AT Tereh 984 & 91 ou-t g @t 3 gl
Ans o 1. A SRR 9 &, difch R, A &1 Tl TUEIR0T 761 6
X 2 ANEI g AfFTRITE
< 3. A SRR I T &, aATR, A T Tel TR &
K 4 AT, AfRT R A B
Question Type : MCQ
Question ID : 44100955831
Option 1 ID : 441009222281
Option 2 ID : 441009222283
Option 3 ID : 441009222280
Option 4 ID : 441009222282
Status : Answered
Chosen Option : 3
Q.72 g 71q aifferu= (A) 3R SRUT (R) @t eargdes ufey ok Ol v o1 T+ HifSg)
(A): Teh AU AR T ¥R (Burden) WH: diee-fRRR (VA) # =oh forar strat g1
(R): Hiez, Ret oiix arafr wifga 2 g Sueon 6t et ufaaren, R (Burden) &1
Ans X 1. ASRRET T § 3R R, A T Jgl T 8|
X 2. AT g, AT R AT B
X 3. AT g, AR R s B
o 4. A SRR T & 3R R, A &1 95 TEteneo 8 51
Question Type : MCQ
Question ID : 44100954207
Option 11D : 441009215810
Option 2 ID : 441009215812
Option 31D : 441009215813
Option 4 ID : 441009215811
Status : Not Answered

Chosen Option :




Q.73 Stray load losses in synchronous motors are caused by
Ans X 1. excessive field excitation

5 2. poor lubrication in bearings
25 3. high rotor inertia

" 4. leakage fluxes and harmonic effects

Question Type : MCQ
Question ID : 44100960769
Option 11D : 441009242038
Option 2 ID : 441009242037
Option 3 ID : 441009242036
Option 4 ID : 441009242035
Status : Answered
Chosen Option : 4
Q.74 The capacitance of a parallel plate capacitor depends upon:
Ans " 1. separation between plates
25 2. potential difference between plates
25 3. thickness of plates
X 4. type of metal used
Question Type : MCQ
Question ID : 44100957525
Option 11D : 441009228964
Option 2 ID : 441009228966
Option 3 ID : 441009228965
Option 4 ID : 441009228963
Status : Answered
Chosen Option : 3
Q.75 2T SR SRITS gleest A[elex Aiche A, TTYE aleest & AT il 3he A F2 ufaRIers (R) o1 ik
N {
Ans X 1. ufRiee R # 3YC diedst 3R diedst UTd &l SiigT 3R 38 SR SIS &l U el
75 2. 3YE et Sl TG
o 3. SR SIS & | uRT Bt WA et
75 4. SM3ITYE TieesT # MR SR T ol fheex et
Question Type : MCQ
Question ID : 4410093585
Option 11D : 44100914349
Option 2 ID : 44100914350
Option 3 ID : 44100914348
Option 4 ID : 44100914347
Status : Answered

Chosen Option :

1




Q.76 favg giwrk # Ffeal & d@du §, Ao § @ Fi9-ar s ad 78 82
25 1. fo7a giawheR A diecdr AT q@gd: sigaTd At R R a=ar gl

< 2. fch @tor FfE 3R srgura e ST 21feh A0 @l garfad s 81

o 3. e gk & dteear Ay @t dae 21tk ST 7 & wenfae et 81

X 4. Stcear AR & forg 21k aior ZfE ofk srura A ST & Aeagof €

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100955421
441009220636
441009220637
441009220638
441009220639
Answered

3

Q.77 atefier & TrA CT 3R PT A1 SUG akd 99 hi=-l Tate fafd (connection method) T&t &2
25 1. CT 3R PT &l ohf dferiiex & T1 iR hA § Gaifoid fohar sirar &1

< 2. CT ot aferier URT declt & 1oy oiaR v | Taiford forar Sirar 8, ofk PT ateear geeft & ary
Srofierm & TS fohar STar &1

o 3. CT &l dfcHieR U1 Grgelt & a1y Siufichr & TaifSid foram ST1ar &, am PT &t dieedT Gt & ary
gHIR A § GAIfSId fohar ST 81

75 4. CT 3R PT a1 &t afexfier & arer Svftern & TaifSra fomar Sirar &1

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100956851
441009226232
441009226230
441009226229
441009226231
Answered

3

Q.78 What is the purpose of a closed feeder ring in an interconnected
system?

Ans 4 1. To create a looped power supply network

25 2. To prevent power distribution

2% 3. To disconnect substations from each other

25 4. To reduce voltage stability

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100955261
441009220020
441009220021
441009220023
441009220022
Answered

1




Q.79 gk =1fhra Ruae? ufay @ 3.2x10"0 J Froif Ieua et 21 a2 wdles fr@i= 200 MeV Ieafsta
el g, dt ufa Tehs foha fae==1 g 87

Ans X 1.10'°
o 2.107
X 3.1010
X 4.10"

Question Type :

Question ID :

Option 11D :

Option2 1D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
44100961500
441009245121
441009245119
441009245118
441009245120
Answered

1

Q.80 Coefficient of coupling between two coils is givenas ____, where M = Mutual Inductance, L,
= Self Inductance of coil 1 and L, = Self Inductance of coil 2

M
v v L1L2
XZ' ‘I.II LlLE

M
X 3.L,.L,.M

Ans

2 AMLLS

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100955942
441009222696
441009222699
441009222698
441009222697
Answered

4

Q.81 Which of the following is a commonly used light source in modern street light installations?

Ans X 1.Candles
& 2. Incandescent bulbs
2 3. Fluorescent tubes

" 4. High-Pressure Sodium (HPS) lamps

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100964175
441009255706
441009255703
441009255705
441009255704
Answered

4




Q.82 R FEYuT (phasor representation) & Ugh j-2erT #, shleafes 3ars j2, ___ & FeTor st
gl

Ans X 1.0
& 2 -1
K 3.1
X 4.v-1

Question Type : MCQ
Question ID : 44100962321
Option 11D : 441009248353
Option 2 ID : 441009248351
Option 3 1D : 441009248352
Option 4 1D : 441009248350
Status : Answered
Chosen Option : 2

Q.83 Which of the following materials should NOT be placed in a microwave oven?
Ans X 1.Glass

X 2. Plastic

< 3. Paper
" 4. Aluminium foil

Question Type : MCQ
Question ID : 44100966235
Option 11D : 441009263887
Option 2 ID : 441009263886
Option 31D : 441009263889
Option 4 1D : 441009263888

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.84 During the no-load test of a transformer, the secondary winding is:
Ans X 1. short-circuited

" 2. open-circuited
2 3. connected to a load

X 4. connected in parallel with the primary winding

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

MCQ
44100961952
441009246870
441009246871
441009246872
441009246873
Answered

1




Q.85 2 km & Gk RiTer-Sret Feefteger &t wrg=1 uferame (0.2 + 0.3j) 0/km 21 98 g 8R W #is &t
STYfef el &, STat aleedT Vg, 100 V & 3R Geheh 201 TR UR &RT 100 A 81 39 sifafl=h, 39
A fiig 1R 0.8 uz=rIT 21f<h TUTe UR 100 A T @S ST gor &1 Aed foig wR aieear ura &Y Torm

HfSgl
A M 1km B
—
L L
|1 =100A |2:1U[}A
pf=08 pf=
Ans X 1.210+]j15
< 2.120 +j15
2< 3.110+j15
o 4.120 +j30
Question Type : MCQ
Question ID : 44100957643
Option 11D : 441009229442
Option 2 ID : 441009229440
Option 3 1D : 441009229439
Option 4 1D : 441009229441
Status : Answered
Chosen Option : 2
Q.86 fA=rfaf@a & @ &=-a1, PMMC T <hT Teh T gl 82
Ans X 1.3 gunefar
o 2. AC 3R DC #19 & folq Sug<h
X 3. Qe qur
X 4. fagd @ud
Question Type : MCQ
Question ID : 44100955805
Option 11D : 441009222176
Option 2 ID : 441009222178
Option 3 ID : 441009222177
Option 4 ID : 441009222179
Status : Answered
Chosen Option : 2




Q.87 AT v H, Tugea uRUU # ____ iR g 81
Ans o 1. UfCRIY & GEHIGR o B Teh oRT 91

X 2. ufeRtees & ary Soft oh & Tes oRT Hia
X 3. ufeRYees & GHHIaR o B ek diecal |id
X 4 ufoRYues & 91y oft e & Uk aieedr dia

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100962075
441009247326
441009247329
441009247328
441009247327
Not Answered

Q.88 Which of the following is a common internal fault in transformers?
Ans o 1. Winding inter-turn short circuits

< 2. Excessive cooling system efficiency
< 3. High power factor leading to overheating

25 4. Overvoltage due to lightning strikes

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

McQ
44100963598
441009253404
441009253405
441009253406
441009253403
Answered

1

Q.89 YR uferter Rb, TWuTges faRie Re 3R mgfef aieedr Vee & @y CE fa=urea # NPN BJT gifSiweR
%1 ITANT & §T Qe Fad arad aRuy ur foram &a?1 afe B, BJT i urr @ifedr &, ot Fraa araw

gfRay &1 e s I
Ans X 1.B % g & GerATU BT &
X 2. B & HermTUTd! gt &
X 3. A @ gaTe
o 4. B S STIHATIITC BTl &

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
4410091576
4410096300
4410096298
4410096299
4410096297
Not Answered




Q.90 BJT & fa=a= a1er @ Wdifda gl syt Y g &l
Ans X 1.BJT & f&a+ aret MOSFET WR f&am a1t @ 91fdres gt &1

75 2. BJT U Uaien gfth ¢ SR 39ferg 9 o &0 § o 81 e Fene! 51 §8feiy, BJT & forg o=

Tt PRI HiSE 8l 8
o 3. BJT &I {99+ a1t MOSFET W &= a7t &t Jof-IT | %A gicti gl
5 4. BJT &t f&== aret MOSFET WR &= aret & sR1eR gidt g1

Question Type : MCQ
Question ID : 4410091571
Option 11D : 4410096279
Option 2 ID : 4410096280
Option 3 ID : 4410096277
Option 4 ID : 4410096278
Status : Answered
Chosen Option : 2
Q.91 The total collector current for a BJT operating in the active region is given by the relation
and the leakage current component is .
Ans X 1.lc = Ic(majority) + Ico(minority); majority carrier component
& 2. lc = Ic(majority); minority carrier component
2 3. Ic = Ico(minority); majority carrier component
¥ 4. Ic = Ic(majority) + Ico(minority); minority carrier component
Question Type : MCQ
Question ID : 4410091582
Option 11D : 4410096322
Option 2 ID : 4410096323
Option 3 ID : 4410096324
Option 4 ID : 4410096321
Status : Answered
Chosen Option : 1
Q.92 Shaded pole motors are ideal for
Ans X 1. high-vibration environments
25 2. precision speed control
" 3. low-power, continuous-duty applications
25 4. intermittent heavy-load tasks
Question Type : MCQ
Question ID : 44100958576
Option 11D : 441009233196
Option 2 ID : 441009233195
Option 3 1D : 441009233193
Option 4 ID : 441009233194
Status : Answered

Chosen Option : 1




Q.93 When armature conductors carry a lower load current, the armature's MMF (magnetomotive

force) causes:
Ans X 1.the main field flux to strengthen

X 2.anincrease in the induced emf
25 3. no effect on the main field flux

«# 4. a cross-magnetising effect

Question Type : MCQ
Question ID : 44100954518
Option 11D : 441009217053
Option 2 ID : 441009217052
Option 31D : 441009217050
Option 4 ID : 441009217051
Status : Answered
Chosen Option : 2
Q.94 U fthaws araw fdhe & forg amaw TR 1ores (S) @ &2
Ans X 1.S=1/(1+8)
& 2.S=(1+B)
X 3.S=(1+B)/(1+B+B"2)
X 4S=B/(1+p)
Question Type : MCQ
Question ID : 4410093353
Option 11D : 44100913421
Option 2 ID : 44100913420
Option 31D : 44100913419
Option 4 1D : 44100913422
Status : Answered
Chosen Option : 4
Q.95 AC uRuy-fassiuur & fer fafdr (vector method) & Heiy & fAm=fef@a @ wi9-u1 s 9t A&
8?
Ans o 1. Tf fafd & thor, afttsr aa o afeyomad feen & gufa wwar &
X 2. Tfer fafdy, aiecar ofiR ur & offwr aher iR RufRa sea & ggraar st g1
X 3. ThoR SRl T IuaT ufdaren ¥ Tefrd AC URT IHmsi &t gaf e o fory fohar ST g1
X 4. Tfer fafdr o1 Iuah sarashia AC it et fAefua e & forg fopan sran g1
Question Type : MCQ
Question ID : 44100962405
Option 11D : 441009248689
Option 2 ID : 441009248690
Option 3 ID : 441009248691
Option 4 1D : 441009248688
Status : Not Answered

Chosen Option :




Q.96 What is the first step in the design procedure for electrical installations in commercial
buildings?

Ans 4« 1. Conducting a load analysis to determine power requirements
X 2. Ignoring safety standards to reduce costs
/5 3. Installing protective devices without planning

25 4. Selecting decorative lighting fixtures

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100963944
441009254782
441009254783
441009254784
441009254781
Answered

1

Q.97 Universal motors exhibit high starting torque due to

Ans X 1. permanent magnet stators
/< 2. use of squirrel-cage rotors
«# 3. series connection of stator and rotor windings

#< 4. shunt winding configuration

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100956717
441009225725
441009225724
441009225722
441009225723
Answered

3

Q.98 T ger 3-thet WoTTeht 2T 21f<h UTek 0.8 &, a2t e 21k 10 kVA &, &t sifth 21fs e @2

Ans X 1.6kw
X 2.12kw
X 3.10kw

o 4. 8KkW

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

MCQ
44100959989
441009238895
441009238898
441009238897
441009238896
Answered

4




Q.99 fa=1-fa=1 urr=aaT e = fo=-fa= gadra varut @ s+ e w@aifSia gedia auy @t ga

Ans

aord & U | Sier T 81 Her ufaeny ghmi

< 1. cafenra ufasewt &1 qurHhe

X 2. feera ufasewt & I &1 Zerd
< 3. gardf 1 o ufsesst &l i A

o 4. AT ufdasendl a1 an

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

McQ
44100960003
441009238954
441009238953
441009238952
441009238951
Answered

2

Q.10 o2 4R & ©R .. T &, g Armet § dget gwadz it gorm & R gz vienfh =t

0  urufAerar st & st @2

Ans

X 1. 98 3= gieear DC fifa Iaaa e 81

o 2. T8 AT SR I9a & HROT g7 areft AfRT g1 i v Fear g1
X 3. 3T oI A Shrer hY STasendT gl & 3fR SHRT SIRET0T THT 8T &

X 4. T8 AC HafchT &Y agehd dl THTE PaT &1

Question Type :
: 44100961761

: 441009246245
: 441009246242
: 441009246243
Option 41D :

Question ID
Option 1 ID
Option 2 ID
Option 31D

Status

McQ

441009246244

: Answered
Chosen Option :

3




